Rectangle Measurements (A)

Calculate the missing measurements for each rectangle.

et —====- ? e -
P =43.5yd
A = 118.26 yd?

A P ==

P = 100.8 in

A = 622.08 in?
(*?‘ —————————— P e - -
P =76.9 AU
A = 296.07 AU?

2.

Kkt - - - - == 7 77777777777777

P = 105.72 km
A = 546.516 km?
e P

P =179.9 yd

A = 381.57 yd?
6#‘ —————— P b
P = 40.98 AU

A = 104.895 AU?
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Rectangle Measurements (A) Answers

Calculate the missing measurements for each rectangle.

%
ev 108 yd -----
P =43.5yd
A = 118.26 yd?
ei ******* 288 in-------->9
P = 100.8 in
A = 622.08 in?
5
<
=
(s 27.80 AU ---------
P =76.9 AU
A = 296.07 AU?

2.

S
fi-—— 38.76 km -----------
P = 105.72 km
A = 546.516 km?
éb
«i 777777 24.15 yd -~~~ -~ -~
P =179.9 yd
A = 381.57 yd?
)
<
2
o
F1---10.50 AU -~~~
P = 40.98 AU

A = 104.895 AU?
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Rectangle Measurements (B)

Calculate the missing measurements for each rectangle.

1 2. |
c\‘ G#‘ 7777777 P —mmm - - 3
3 P = 76.08 km
! , A = 331.29 km?
P = 33.44 in
A = 69.184 in?
3 1 [
koo ? - g el 777777777 P
2
} 6. :
| A
f P = 53.8 cm
| A = 178.5 ¢m?
k4 e R
P = 166.04 yd

A = 1669.0576 yd?
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Rectangle Measurements (B) Answers

Calculate the missing measurements for each rectangle.

i 2. |
| £
.S'; e;jl ---2454 km ----- >
I~
‘ P = 76.08 km
: A = 331.29 km?
61 ******* 92in --------
P = 3344 in
A = 69.184 in?
% 4. |
S 5
= i
ei ***** 164 cm ------ y el 7777777 491 yd - -------
A = 181.056 cm? A = 14.2881 yd?
3 6. [
1 2
4 «jff 150 cm ---
Ne) NS
= P = 53.8 cm
A = 178.5 ¢m?
«i 77777777777 48.86 yd - === -----=---
P = 166.04 yd

A = 1669.0576 yd?
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Rectangle Measurements (C)

Calculate the missing measurements for each rectangle.

| 2. |1
ew: ———————— P — - N A ?----- E
T P=Ti32m P = 30.6 nm
A = 331.2288 m? A = 55.8 nm?
' 4. |
A ? - :
P =104 m frmmmm e P
A = 6.4 m? P = 130.4 mm
A = 915.8656 mm?
' 6. |1
L\\. e#‘ ————— P o----=- S
| P = 106.38 nm
| , A = 697.653 nm?
P = 133.74 cm

A = 1103.949 cm?
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Rectangle Measurements (C) Answers

Calculate the missing measurements for each rectangle.

; 2. | L
P 26.04m ------ 4 *?**' 9.3 nm - -~
P=77.52m P = 30.6 nm
A = 331.2288 m? A = 55.8 nm?
! 4. [T
=
o &
e1***3.2111 ***** g
P =104 m “1 ******* 44.72 mm ---------
A = 6.4 m? P = 130.4 mm
A = 915.8656 mm?>
' 6. |
: *i** 29.70 nm ---
™
! P = 106.38 nm
1 A = 697.653 nm?
F1o 29.7 cm --- -+
P =133.74 cm

A = 1103.949 cm?
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Rectangle Measurements (D)

Calculate the missing measurements for each rectangle.

i 2. |
A R 3
P =168 nm i
A = 1739 nm? g e
P = 133.2 mi
A = 1093.68 mi?
3 4 [
C\\' A P e -
3 P = 49.44 km
! A = 140.238 km?
A YA
P = 106.2 yd
A = 698.4 yd?
1 6. |
e*‘ ————— P —---—- g i
P = 79.32 nm . o J
_ 2 = :
A = 393.228 nm P — 75 84 mm

A = 352.928 mm?
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Rectangle Measurements (D) Answers

Calculate the missing measurements for each rectangle.

. 2.
=
”
ei ****** 470 nm -------
P =168 nm
A = 1739 nm?
| 4.
% 24.0 yd ------
P =106.2 yd
A = 698.4 yd?
: 6.
%
ei**' 19.8 nm --- -+
P =79.32 nm

A = 393.228 nm?

fdm-m--- 204 mi --------

********** 37.2mi-----------
P = 1332 mi
A = 1093.68 mi?

T

-- 882 km ---

******* 159km---------
P = 49.44 km
A = 140.238 km?

7x

- - ==

******* 2152 mm --------9
P = 75.84 mm
A = 352.928 mm?

f
k+----16.4 mm
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Rectangle Measurements (E)

Calculate the missing measurements for each rectangle.

| 2. |
P P - b :
P = 146.08 m v
A = 1005.376 m? |
ea‘ ————————————— P e e e — o=
P =904 yd
A = 499.2 yd?
: 4. [
T. eﬁ‘ ——————— P e - e
| P = 92.96 nm
frmmmmmoooee Y A = 507.15 nm?
P = 126.14 km
A = 961.9092 km?
| 6. |
A P - & i
P = 88.1 ft . o
_ 2 L ’
A = 459.85 ft P = 192 ft
A = 151.2 ft?
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Rectangle Measurements (E) Answers

Calculate the missing measurements for each rectangle.

1 2. |
2 |
% |
«i *********** 54.64m ------------ 1 s
P = 146.08 m o
A = 1005.376 m? B
«i 7777777777 26.0 yd —----------=
P =904 yd
A = 499.2 yd?
I 4. |
;;; «i**** 2898 nm ----- -1
| P =92.96 nm
fim e 37.24 km -------- A = 507.15 nm?
P = 126.14 km
A = 961.9092 km?
3 6. |
= -
= ©
fa-mooe- 97.05 ft -~~~ :
P — 881 ft ) ei 77777 120 ft ,,,,,,,
A = 459.85 ft P 1092 ft
A = 151.2 ft?
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Rectangle Measurements (F)

Calculate the missing measurements for each rectangle.

! 2. [
A ? - i
P = 151.38 yd frooooe- P .
A = 1327.8978 yd? P = 58.4 cm
A = 213.12 cm?
' 4. |7
i 67‘ fffff ? ===
i ?oo-o-- ] P = 52.96 AU
P = 133.2 mi A = 175.296 AU?
A = 1105.65 mi?
| 6. |
ei ————— P —- - i
€L . kg m oo — oo VT e
P =1284 an P — 013 km
A = 1030.4 nm A = 488.775 km?
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Rectangle Measurements (F) Answers

Calculate the missing measurements for each rectangle.

;;»
=
I~
[N}
«i 7777777 48.06 yd ---------
P = 151.38 yd
A = 1327.8978 yd?
¥
Fi--- 315 mi ----

P = 133.2 mi
A = 1105.65 mi®

S

&

ei** 32.0nm ----
P =128.4 nm

A = 1030.4 nm?

2.

Ft----14.8 cm ----- 4

k4--- 1440 cm - - - -

P =584 cm
A = 213.12 cm?

-- 13.28 AU ---~
P = 52.96 AU
A = 175.296 AU?

i-- 132 AU ----

--- 1715 km ----

Ft-—--=--=-- 28.5 km

P = 91.3 km
A = 488.775 km?
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Rectangle Measurements (G)

Calculate the missing measurements for each rectangle.

3 2. [
i e P
e R 3 P =74.72 cm
P = 58.74 ft A = 320.64 cm?
A = 208.44 ft?
3 4. :
6?‘ —————— P - - b i
P =116.32 ft B . ]
A = 842.112 ft2 L :
P = 80.56 cm
A = 396.256 cm?
! 6. [
A P i
P = 66.6 mi I o .
_ <2 <
A = 271.7 mi P = 12474 yd

A = 937.517 yd?
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Rectangle Measurements (G) Answers

Calculate the missing measurements for each rectangle.

1 2. |
3 ¥
| «i ********* 240cm ----------
A 1737 ft ~—-------~- 3 P =74.72 cm
P = 58.74 ft A = 320.64 cm?
A = 208.44 ft?
3 4. |
R 5
- 2
| -
£1----30.96 ft -~~~ ) i
P = 116.32 ft | .
FA-=—======- Zcem---------- 2
A = 842.112 ft? -
P = 80.56 cm
A = 396.256 cm?
! 6. [
Ing) (=)
= S
F1--==19.0 mi------ B
P = 66.6 mi by 371 yd ---------
_ <2 <
A = 271.7 mi P = 12474 yd

A = 937.517 yd?
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Rectangle Measurements (H)

Calculate the missing measurements for each rectangle.

! 2. |7
ew‘ 7777777 ? == b L\‘
P = 12.96 AU |
A =9.792 AU |
ea‘ ——————————— P e - -
P =59.7 nm
A = 217.0674 nm?
: 4. [
e A P - --- b
3 P =536m
I y A = 171.9975 m?
P = 43.8 ft
A = 119.7 ft?
| 6. |1
i A P
. y . P = 126.9 ft
- _ 2
P — 38.02 yd A = 995.085 ft

A = 94.5048 yd?

Math-Drills.com




Rectangle Measurements (H) Answers

Calculate the missing measurements for each rectangle.

] 2. |
= 1
<: |
<t g
Fr1---- 408 AU------ > 3
P = 12.96 AU =
A =9.792 AU? |
ei ******** 173l nm ---------
P = 59.7 nm
A = 217.0674 nm?
: 4. [T
:
= Fr-- 16.15m ----)
} P=536m
‘ _ 2
e A oo A =171.9975 m
P =438 ft
A = 119.7 ft?
| 6. |1
£1-- 28.35 ft -~
A 1014 yd -------- P =126.9 ft
= - _ 2
P — 38.92 yd A = 995.085 ft

A = 94.5048 yd?
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Rectangle Measurements (I)

Calculate the missing measurements for each rectangle.

1 2. |
koo oo P i
P = 17.28 mm [ [ i
A = 16.758 mm? P =96.32 yd
A = 579.67 yd?
1 L[
A P H: 77777 P e
P =664 ft P =28.04 nm
A = 270.72 ft? A = 49.096 nm?
) 6. 1
i A P
fio e P ] P = 69.76 m
P = 101 in A = 297.6 m?
A = 623.5 in?
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Rectangle Measurements (I) Answers

Calculate the missing measurements for each rectangle.

1 2. [
éfi ******** 57mm ---------- |
) P = 17.28 mm f1m- 2450 yd --- -
A = 16.758 mm? P =96.32 yd
A = 579.67 yd?
1 L]
S i
) &N
‘ I~
ei ****** 18.80 ft -------- «i*** 6.8 nm -----
P =664 ft P = 28.04 nm
A = 270.72 ft? A = 49.096 nm?
' 6. 1
= =
i «i ******* 200m --------
ei ********* 290in ---------- 4 P =69.76 m
P = 101 in A = 297.6 m?
A = 623.5 in?
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Rectangle Measurements (J)

Calculate the missing measurements for each rectangle.

1 2. |
A P - i
P =1422m frmm e [
A = 11.327 m? P = 109.08 km
A = 657.72 km?
; 4. |
S VAT T
P =110.6 AU o .
A = 5782 AU? H :
P=1522m
A = 1367.7 m?
' 6. |
(*?‘ ————— P -- ! C\‘
P =553m 3
A = 188.955 m? :
(“l —————————————— VA
P = 205.38 mi

A = 2530.116 mi?
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Rectangle Measurements (J) Answers

Calculate the missing measurements for each rectangle.

: 2. |
B 2
F1- 4.7Tm -------- T‘
P =1422m frmmm 36.54 km -----------
A = 11.327 m? P = 109.08 km
A = 657.72 km?
: 4. |
< o
c. —
= =
oo A1.3AU ---------- =
P =110.6 AU o o
A =578.2 AU? ¥ U
P=1522m
A = 1367.7 m?

' 6. |1
3 |
k+--1530m ---1 j
= <
P=553m an

A = 188.955 m? |

frmmm e 61.65 mi ------------
P = 205.38 mi

A = 2530.116 mi?
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